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Answers and commentaries

This resource is to be used alongside the A-level Economics Component 7136/3 Economic

principles and issues June 2022 Question paper and inserts.

Section B

The commercial aircraft manufacturing industry
INVESTIGATION
Scenario

You are an economist working for an organisation that is investigating the commercial aircraft
manufacturing industry.

You have been asked to review the changes to the industry that have taken place since 2014.
As part of this investigation, you are to provide answers to three questions.

Referring to the Insert, study Extracts A, B and C, and then use these and your knowledge

of economics to help you answer Questions 31 and 32. There is also a news report, Extract D,
which is to be used with the other extracts to help you answer Question 33.
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Question 31
To what extent do the data support the view that Boeing has been more successful than
Airbus since 20147 You must use the data in Extract B to support your assessment.

[10 marks]

Mark scheme

Level of Resbonse Max
response P 10 marks

A good response that:
¢ is well organised and includes at least three relevant,
well-developed issues

e makes effective use of the numerical/statistical data in Extract B 8-10

Level 3
marks

e shows some appreciation of the limitations of the data

e includes a supported final judgement concerning the extent to
which the data support the view that Boeing has been more
successful than Airbus since 2014.

A reasonable response that:

e is fairly well organised and includes at least two relevant and
fairly well-developed issues

e includes some satisfactory use of the numerical/statistical data in

Level 2 Extract B 4-7

marks
e may show some appreciation of the limitations of the data

o at the top of the level, is likely to include a final judgement
regarding the extent to which the data support the view that
Boeing has been more successful than Airbus since 2014.

A weak response that:
e is very brief and/or lacks coherence

e may include one or more superficial points regarding the extent
to which the data suggest that Boeing has been more successful

Level 1 than Airbus since 2014
marks
e contains very limited or poor use of the data in Extract B

e doesn't show any appreciation of the limitations of the data

e may include an unsupported judgement concerning the extent to
which Boeing has been more successful than Airbus since 2014.
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When assessing the extent to which the data support the view that Boeing has been more
successful than Airbus since 2014, most students are likely to base their assessment on the
data in Extract B. However, they can also be rewarded for making relevant use of the other
extracts and their own knowledge.

Relevant issues include:

e explanation of the market that Boeing and Airbus are in

e explanation of the criteria that might be used to judge the relative success of Boeing and
Airbus, eg deliveries of aircraft, changing market share, profitability

e each year, between 2014 and 2018, Boeing delivered more aeroplanes than Airbus but
generally the gap has been falling, eg from 94 aeroplanes in 2014 to just 6 aeroplanes in
2018

o the total number of aeroplanes delivered, between 2014 and 2018, by Boeing (3802) was
more than Airbus (3470) delivered

e Airbus delivered 863 planes in 2019 but Boeing's deliveries fell to 380, however, this was
due to the grounding of the 737 MAX

e in 2018, Airbus had a larger backlog of outstanding orders than Boeing, 7133 planes as
opposed to 5488 planes

e between 2014 and 2018, in terms of deliveries, Boeing had a larger market share than
Airbus but Boeing's market share fell from 47.3% to 45.7% whilst Airbus’'s market share
grew from 41.1% to 45.4%

e on balance, data relating to deliveries, market share and orders suggest that the
performance of Airbus improved relative to Boeing over the period

e between 2014 and 2018, in each year, Boeing's total revenue was greater than Airbus’s
total revenue but the difference fluctuated. Over the five years, Boeing's total revenue was
$304.1 billion whereas Airbus's total revenue was $275.9 billion

e between 2014 and 2018, in each year, Boeing's profit margin was greater than Airbus’s
profit margin but whilst the difference fluctuated, the difference between Boeing's and
Airbus’s profit margin was lower in 2018 (4%) than in 2014 (4.4%)

e the average revenue per aircraft fell for both firms but it fell most for Airbus. Between
2014 and 2018, Boeing's average revenue per aircraft fell by $7.7 million whereas Airbus's
average revenue per aircraft fell by $18.5 million

e limitations of the data identified might, for example, include:

o no indication of the total profit, although this can be estimated from Figure 3

o no indication of the amount of interest each company pays on its debt/borrowing

o the reasons for the falls in average revenue per aircraft are not known, eg was it
because they were cutting prices to increase sales or was it because the types of
aircraft being sold were different

o the effect of the grounding of the 737 MAX is a distortion and it is difficult to judge
its significance

o noinformation on factors such as spending on R&D and human capital and the
effects on the performance of the two companies

o no comparison of the performance of the two companies in different market
segments, eg geographical regions, types of aircraft such as narrow-bodied and
wide-bodied

o little information on how the firms have performed since 2018

© 2024 AQA 5of 42



A-LEVEL ECONOMICS - 7136 - PAPER 3 - ANSWERS AND COMMENTARIES

e an assessment of whether the data support the view that Boeing has been more
successful than Airbus since 2014

e an assessment of the extent to which there is a difference between the performance of
the two firms

e an assessment of the extent to which the relative performance of the two firms has
changed over the period

e anoverall conclusion supported by the data.

As indicated in the level of response mark grid above, a good response will include a
supported final judgement concerning the extent to which the data support the view that
Boeing has been more successful than Airbus since 2014. A good response will quote data to
support the judgement and data will be quoted accurately. It is likely that good answers will
conclude that there is some evidence to support the view that Boeing has been more
successful than Airbus since 2014 but that the performance of Airbus has improved relative to
Boeing. However, they should not be penalised for a different conclusion, provided it is well
supported.

See original question Paper 3, Question 31 - data sheet which can’t be included because
of copyright.
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Student responses
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This is a Level 3 response

This is a very well-organised, clearly expressed response. It starts by identifying key factors
that should be considered when judging whether Boeing has been more successful than
Airbus. More than three relevant issues are discussed in detail. The numerical data is used
effectively, quoted accurately and linked explanations are fully focused. Some limitations

of the data in making a final judgement are identified, for example, that the data provided
only goes up to 2018. There is evaluation throughout the response and the final
judgement is clearly stated and well supported.

10 marks
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Response B
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This is a Level 2 response

This response has a clear, logical structure but would have benefited from an introductory
paragraph that, for example, outlined how the comparative success of the two firms
should be judged. The student has identified several relevant issues. The data is quoted
accurately and is used well in the first two paragraphs but less so in the third paragraph
where the student only quotes figures for 2018. Each paragraph includes a preliminary

judgement with some attempt at evaluation. Possible limitations of the data have not been
considered. A final, overall judgement is included but there is little, if any, attempt to
summarise the arguments in support of the judgment. It is not fully consistent with the
earlier discussion which recognises that the data indicate that Boeing's lead over Airbus is
being eroded.

6 marks
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Response C
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This is a Level 1 response

The response identifies two relevant issues. The use of data is accurate but very limited
and not used effectively to support judgements. Insufficient use is made of the numerical
data in Extract B. Possible limitations of the data have not been identified. There is an
attempt to present an overall judgment but the judgement is not well supported.

3 marks
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Question 32

Explain the factors that a commercial aircraft manufacturer, such as Boeing or Airbus, should
consider when forecasting the future sales of its aircraft.

[15 marks]
Mark scheme
Level of Max
Response
response 15 marks
A good response provides an answer that:
e is well organised and develops a selection of the key issues
that are relevant to the question
e shows sound knowledge and understanding of economic 11-15
Level 3 terminology, concepts and principles with few, if any, errors marks
e includes good application of relevant economic principles and,
where appropriate, good use of data to support the response
e includes well-focused analysis with clear, logical chains of
reasoning.
A reasonable response provides an answer that:
e focuses on issues that are relevant to the question
e shows satisfactory knowledge and understanding of economic
terminology, concepts and principles but some weaknesses
may be present 6-10
Level 2 ybep K
e includes reasonable application of relevant economic marks
principles and, where appropriate, some use of data to
support the response
e includes some reasonable analysis but which might not be
adequately developed or becomes confused in places.
A weak response provides an answer that:
¢ has one or more relevant issues identified
¢ has some limited knowledge and understanding of economic
Level 1 terminology, concepts and principles but some errors are likely 1-5
¢ has very limited application of relevant economic principles marks
and/or data to the question
¢ might have some limited analysis but it may lack focus and/or
become confused.
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Remember: AO4, ie evaluation, is not being assessed through this question.

Relevant issues include:

¢ meaning of forecast and the inevitable uncertainties involved when forecasting future
sales identifying that the growth in the demand for aircraft is derived from the demand for
both passenger and freight air transport

e explain the significance of the growth in the world economy and cyclical fluctuations in
economic activity

e explain the significance of the growth in the middle-class population

e linking the above to the growth in tourism, the demand for air travel and hence aircraft

e theincome elasticity of demand for air transport

e expected developments in the globalisation of the world economy

e the relative price of the company's aircraft

o explain the relevance of both price and cross elasticities of demand

o the effect of changes in exchange rates

e the rate of growth in different market segments and how they link to the type of aircraft
the company sells

o the effect of new entrants into the market, eg COMAC

e the extent to which the airlines need to replace ageing aircraft

e changes in technology and the impact on the cost of operating aircraft

e changes in technology and its effect on the environmental impact of air transport

o the effect of government policies and global agreements that might affect the need to
replace older aircraft by new aircraft that have a less damaging impact on the
environment

o the efficiency (eg cost per seat) of operating the company’s aircraft compared to its
competitors

e the environmental impact of the company’s aircraft compared to its competitors

e the safety record of the company’s aircraft compared to its competitors

e the impact of unexpected events such the 2007-08 financial crisis and the global pandemic

e consumer confidence in air travel

e the growth in the demand for air freight, perhaps linked to expected changes in the
pattern of world trade

e use of extracts A, B and C to support the above.

The use of relevant diagrams to support analysis should be taken into account when
assessing the quality of a candidate’s response to the question.
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Student responses
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This is a Level 3 response

The student has produced a very well-organised answer that identifies a selection of key
issues that are relevant to the question. There is an appropriate introduction and the
importance of each key issue is explained in a separate paragraph. Good knowledge and
understanding is demonstrated throughout and the application of economic principles to
the context is convincing. The student recognises that the demand for aircraft is derived
from the demand for air travel and air transport. Good use is made of the extracts to

identify factors that affect the demand for aircraft. The answer includes logical chains of
reasoning to explain the importance of the various factors identified. Points copied from
the extracts are acknowledged by the use of quotation marks. Suitable diagrams are
drawn accurately and used to support the analysis. There is some repetition and the
analysis of some of the factors identified could have been developed further but overall
this is a strong Level 3 response.

14 marks
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Response B
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This is a Level 2 response

This is a reasonable, if limited, response. There is some effective use of the extracts and

the answer is focused on issues that are relevant to the question. Some knowledge and
understanding of economic concepts and principles is demonstrated but not fully
developed. Application of economic theory to help explain factors that may affect the sales
of aircraft is satisfactory but incomplete. Two relevant factors are stated in the final
paragraph but there is no attempt to explain how they are likely to affect future sales of

aircraft.

9 marks
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This is a Level 1 response

The answer identifies some issues but much of the response is of limited relevance. Some
understanding of economic ideas is shown but there are inaccuracies and the application
of economic principles to the context is quite weak. The first diagram is incomplete and is
not used effectively. The second diagram is also incomplete and, at best, of marginal
relevance. An attempt is made to analyse factors that are likely to affect the sales of
aircraft but the analysis is not well focused and is confused in places.

3 marks

© 2024 AQA 24 of 42



A-LEVEL ECONOMICS - 7136 - PAPER 3 - ANSWERS AND COMMENTARIES

Question 33
After considering Extract D, and the original evidence in Extracts A, B and C, would
you recommend that the UK government provides financial and other support to companies
involved in the production of commercial aircraft? Justify your recommendation.
[25 marks]

Mark scheme

Level of Response Max
response P 25 marks

Sound, focused analysis and well-supported evaluation that:

* is well organised, showing sound knowledge and
understanding of economic terminology, concepts and
principles with few, if any, errors

* includes good application of relevant economic principles and, 21-25

Level 5 where appropriate, good use of data to support the response marks

* includes well-focused analysis with clear, logical chains of
reasoning

* includes supported evaluation throughout the response and
in a final conclusion.

Sound, focused analysis and some supported evaluation
that:

* is well organised, showing sound knowledge and
understanding of economic terminology, concepts and

principles with few, if any, errors
16-20

Level 4 |+ includes good application of relevant economic principles and, marks

where appropriate, some good use of data to support the
response

* includes some well-focused analysis with clear, logical chains
of reasoning

* includes some reasonable, supported evaluation.
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Some reasonable analysis but generally unsupported
evaluation that:

» focuses on issues that are relevant to the question, showing
satisfactory knowledge and understanding of economic
terminology, concepts and principles but some weaknesses
may be present

Level3 |* includes reasonable application of relevant economic principles 11-15
and, where appropriate, some use of data to support the marks
response

* includes some reasonable analysis but which might not be
adequately developed or becomes confused in places

* includes fairly superficial evaluation; there is likely to be some
attempt to make relevant judgements but these aren't well-
supported by arguments and/or data.

A fairly weak response with some understanding that:

* includes some limited knowledge and understanding of
economic terminology, concepts and principles but some errors

are likely
. . . . . . 6_10
Level 2 |+ includes some limited application of relevant economic
principles and/or data to the question marks
* includes some limited analysis but it may lack focus and/or
become confused
* includes some evaluation which is weak and unsupported.
A very weak response that:
* includes little relevant knowledge and understanding of
Level 1 economic terminology, concepts and principles 1-5
marks

* includes analysis which is, at best, very weak

* includes attempted evaluation which is weak and unsupported.
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Relevant issues and areas for discussion include:

market failure as a justification for government support

damage to the environment as source of market failure in the commercial aircraft
industry, eg greenhouse gas emissions, noise pollution

the high cost and risk may, without government support, lead to inadequate spending on
R&D and capital investment

to support investment in human capital where the existence of positive externalities may
be a source of market failure and, if left to the private sector, may mean spending is too
low

to support growth and employment in the less prosperous regions where market failures
may mean that they do not develop sufficiently, eg immobility of labour, inertia,
cumulative causation and local multiplier effects

may help to promote improvements in productivity and competitiveness

external benefits (spin-offs) for other industries arising from developments in the
commercial aircraft manufacturing industry

supports UK manufacturing helping to achieve a more diversified, balanced economy
may be needed to match the support provided by other countries

may be needed in the short run to support the industry when there is a significant
economic shock

impact on employment

impact on short-run and long-run economic growth

government support as an injection into the circular flow of income and related multiplier
effects

impact on exports and the balance of payments

may lead to over-reliance on government support, inhibiting improvements in productivity
and efficiency

may make it difficult for new firms to enter the market

distorts the pattern of comparative advantage, supporting inefficient industries reducing
the gains from trade

may breach WTO rules and allow other countries to impose tariffs and other trade
restrictions in retaliation

implications for taxation, other categories of public expenditure and the budget balance
various arguments relating to government failure, eg information failures, administrative
costs, political motivations

a supported recommendation.

The use of relevant diagrams to support analysis should be taken into account when
assessing the quality of a candidate’s response to the question.

An answer that does not include any evaluation, either throughout the answer or in a
supported recommendation, must not be awarded more than 13 marks.
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Student responses
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thak the

This is a Level 5 response

The answer makes effective use of the extracts to construct a response that is fully
focused and examines a selection of key issues. Sound knowledge and understanding of
economic principles is shown throughout and economic terminology is used appropriately.
Good application of relevant economic principles is a strength of this answer. Arguments
both for and against the UK government supporting the aircraft manufacturing industry
are presented and evaluated. Evaluation is backed up by well-developed analysis and use
of the data. The conclusion is thorough and includes a clear recommendation that is well
supported.

25 marks

© 2024 AQA 32 of 42



A-LEVEL ECONOMICS - 7136 - PAPER 3 - ANSWERS AND COMMENTARIES

Response B
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This is a Level 3 response

The answer demonstrates satisfactory economic knowledge and understanding but there
are weaknesses. There is some reasonable, but limited, application of economic concepts
and principles. Analysis is attempted but is not fully developed, for example, the

explanation of the externality argument is incomplete. The economic cycle diagram is not
used well and is flawed. Arguments both for and against the UK government providing
support for the aircraft manufacturing industry are presented and there is a final
recommendation. However, much of the evaluation is superficial.

15 marks
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s M L
A ORI M_me il

HI&M&%MME&LM:) oo el o Bas

pdoitiunal eundsuiey paenealial e Bas afhaae
wmwmm

U\ﬂ: H&»M@Lﬁw—
LAV ke LoswveReasains osdtmed L Das puadeae B,
: MMMM&___ — e

.%LM‘.@&MWM_MQLM _—
& Poafcdoaloes cllcowat 13 O vooalak _saeliay
_provaiane naotah fadiae s wdaiosasy veguaiiie.
Mh’xﬂm&ﬂ_._yhlhwﬂw_%thth' =" I s

_Cﬁm_umii.l_\_ﬁa_\_n._& £ Cnnaanasaadin S L'fn_ﬂuﬁ&lkq_

© 2024 AQA 40 of 42



A-LEVEL ECONOMICS - 7136 - PAPER 3 - ANSWERS AND COMMENTARIES

sk Oy Qe S um%mgnw
M\Mﬂ&%ﬂmmhﬁw@w _z.}xs.z.uu&e_
o Aan _m\.'h.@_h__\;mm WLummwm
_l:__ﬂ.\r_\ﬁn Yno SuageenDangy mxﬁm\k\t ﬂlm. ¥,
MM&* A gaangh mb.-u.u...m PO i .I""u

Luxw@mgumﬁ._r “p
LM\MW&.&E AADINCC Lol |

A ' I VAYTAVAW.
' VOIS yais, SRAY. L ARAY,
\ /
— 1 87s

‘l_fh.-',_hx T O o
=

FE\ _%‘-k ‘L!.'L:li‘.:uu'-t..l" |
= Las \Llu':.\r\!kh |
R |

| NEAN N |

G 02 HIJD
L_\._Yh.l._\mw& LY. o : N—

e Mﬁu_hm u\h*-.)

JLML R
oaad Vag Liages e kmﬁmLm_wmel_m

edasianan jan ummaﬁaxwﬁ_ﬂhlh Mﬁa—'

© 2024 AQA 41 of 42



A-LEVEL ECONOMICS - 7136 - PAPER 3 - ANSWERS AND COMMENTARIES

ﬂk,;_;uw_ﬁa.m“ﬂ;“cc u.\.\_'\,u.u.t__ h PRI AT EIE ETREN
b ul-ul-Lk-_\"'u.sE-:,—mi Mpsaeane 6 outoneaak o sada i,

Lanagd [i Gy, ‘&_h‘\u'n.hn."-~iuq5{,f';._\.xn_=.ﬁ_\:'s. -L_\.L"Q,. _IHu:u'..“E.'.'-r-.. COnasaoun Uik

B AD_ Sadbisn ADXewn AD ke AD, Tl Snawapn
S CTE—B0EESA ( Cn ane ll\; 5..:-..;\.-._\,,_-.'_»._3_.\_ i REICRT NN B

—Ciemina W, '.,a.,luuu‘;mx\mme. AD e !tl.:.L""-.s.ms. v GOR euna LR

S e i W&_'\;‘\m\.ud..l'un. LL'\I,;::;‘_'__A.L'.Q J Grandd 'l\'._'i.r_-Lx-_k“.l-L\_ %

. . . Y .

Dol g dlasomn, W@ALMA&* ok

b i ) 4 : by

Y PULTA VUL O N e p o u-hu_;.uaxw_ux\-xﬁi..lfﬁuﬁx..ﬁ.. .
Cia S

A
L'll_\'.Lf_L_\Js.\_.me\u v '!(,u. Thasd v cenmmnnsontoiian W Yaak
s L\Mh&k_\c-;_\‘;._\-_\_a&xurvh'\s, ‘IW.- Slamarsan bn Bae

€ oonimuanit Chacle mmawixﬁ_mm%.m.m‘u_d 3
H,_uu,_l'x_Lu-.-E’_ . .'\l."a TE:_L!'\LQ_L,IIY (— VoAb Lnoaas L l.’\.m: i

This is a Level 2 response

This response includes a preliminary recommendation in the opening paragraph, which is
not unreasonable. However, it is limited in scope and does not consider arguments against
the recommendation presented. There is some use of the data and an attempt to apply
economic principles. Protecting employment is a reasonable argument in favour of the UK
government supporting the industry but the analysis is thin. The discussion of the impact

of supporting the industry on the macroeconomy has some merit but is not always
convincing, for example, it is unlikely that it will help to maintain stable inflation. Overall,
the response shows quite limited knowledge, understanding and application of relevant
economic concepts and principles. Key issues have not been considered and the
evaluation is weak and not well supported.

7 marks
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